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A () ¥HHFE HHGE E ATH G fHeT afa & 3w A
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) F% ¥¥7 & G 9T Bt HHAR T GreY §F Hiford |
Solve all parts of a question consecutively together.
(iii) FF ¥ HI 79 98 8 IR Fford |
Start each question on fresh page.
(iv) &1 9137 & 37~ g7 #1 1Rty 7 373 srgae S AT 2
Only English version is valid in case of difference in both the languages.
(v) T 3we T8 oF T 8, 3% FI Al |

Assume the data which are not given.

1. () 3NTheH o @1 § 3= Fa15T |
State difference between estimating & costing.
(i) et d s H 3L FaTsT |
Differentiate between key and splines.
(iii) Yfoed HgT R FAFA S DH-PA AT S 7
What are the methods of reducing stress concentration ?
(iv) ITIeTeh! o1 arffentor IR |
Classify the levers.
(v) udu wfdeh e mn @ g 2 |
What are the ‘Anti-friction bearing’ ? (2x5)
(1 of 4) - P.T.O.



MA309 2 of4) 132

2. () freft TR S & Rore werel 1 e T ww foR shTehi ST e T S
g7
What factors are considered while selecting material for an Engineering
application ?

(it) @12.5mmnﬁzﬁqé75mmaﬁsﬁ®zaﬁ?@ﬁtﬁz%mmﬁéa;qéagi
T Rete Yo g1 Sl T R | AR Srftresan T e s e 1 AE EE:
70MPaqé56MPaéﬁmmﬁ:éza@gﬁméaﬁml

A plate 75 mm wide and 12.5 mm thick is joined with another plate by a single
transverse weld and a double parallel fillet weld. The maximum tensile and shear
stresses are 70 MPa and 56 MPa respectively. Find the length of each parallel
fillet weld. (6+6)

3. () @aﬁawmqﬁﬁawﬁﬁ@@wﬁwmwﬁﬁmwﬁs%mﬁm
ﬁmaﬁaﬁ%wﬁ,m@awwwﬁ | GiEell ITHE T AN
ST, ST ST T 18 | .

Calculate the power transmission ratio of solid shaft to hollow shaft, when
external diameter, length-and material are same for both shafts. The internal
diameter of hollow shaft is half of its external diameter.

(ii) 1mm%mmmaﬁmﬂzoonmmm% | afe et &
weref &1 IAd dfaee 75 N/mmZ & a1 s % AR uiesg S AhweT
Hifru | wivede I Her Iuh e it 3 1o i |
200 N force applied on Hand lever of one meter length. Find the dimensions of
rectangular section of lever if permissible stress is 75 N/mm? for lever material.

Width of section is three times of its thickness. (4+8)
4 o wEe 6 i faf s ferean & wfem weET |
Describe in detail the design procedure of ‘Turn-buckle’ with neat sketch. (12)

5. (@) Joe YT TE ‘Aee fag i AHFTET |
Describe *Weld reinforcement” and ‘weld symbols
(ii) @ﬁﬁqwsﬁ@ﬁa%mﬁwﬁg%mﬁmmﬁumgﬁﬁsﬁ
m%@%ﬁtmaﬁgﬁ%wml.Sm%|3ﬁﬁmaﬁ®m@%ﬁtqﬁﬁﬁw
@ﬁtmmmmzsAkNaLSkN%laﬁmmﬁmﬁlaﬁgaﬁas
e Y e Tt <61 me Y 3 s AR 318 9 gl 400 mm R @ AR H1 AT
maﬁﬁqnmﬁwagﬁamwuﬁaanwaaﬁﬁm

A line shaft is driven by means of a motor placed vertically below it. The pulley
on the line shaft is 1.5 m in diameter and has belt tensions 5.4 kN & 1.8 kN on
the tight side and slack side of the belt respectively. Both these tensions may be
assumed to be vertical. If the pulley be overhahg from the shaft, the distance of
the centre line of the pulley from the centre line of the bearing being 400 mm.
Find the diameter of the shaft. Assume maximum allowable shear stress of

42 N/mm?2, . (6+6)

.
.
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aie ferafin &t wres famnati e fafafye =6t fovm wom gt ST @
How the standard dimensions and designations of ball bearings are given ?

THETH e % M48 Siee & g 1 o3| F1a i |

(M43 SIe2 1 HI A = 41.795 mm)

Determine the diameter of the hole that must be drilled in a M48 bolt such that
the bolt becomes of uniform strength. (core dia. of M48 bolt =41.795 mm)  (6+6)

T ¥ IR B AT | AT H fafir il ot weaedi 1 Qi 9 sl
3TRG ! AR | |

Describe ‘Aims of costing’. Draw a block diagram to illustrate the relationship
between various elements of cost.

weh hadt § 100 SR % weg H Ieared R I R | O W Y w9 o oW
AT S T 400 TUT T 600 § | AR Hf T, el T oW AT H1 45% A D
STfiren SITd T et AT A ShifTe | afe Sufera e @mTa W 30% & AN
TN T AT BT 15% TG ST ) Teieh o, 1 Tefshat 16 T <hIfore |

A factory produces 100 articles in a group. The direct material and labour cost
per group are ¥ 400 and ¥ 600 respectively. The factory expenses is 45% of
material and labour cost. Find prime cost and factory cost. Overheads are 30% of
factory cost. Find the selling price of each article if profit share is 15% of total

cost. (8+4)

8. Fomm wwfre feafimt forfa -

Write short notes on the following :

(i)

(ii)

ol 3reaEl 1 Ffirwed & fore e sTevasdd

Basic requirements for design of a machine element
deer gedi # wfereh sl o HOT Ica faf= widwer

Various stresses induced in screw threads due to static loading

(i) TI¥ T AVIY G

Direct and indirect expenses. (4x3)
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